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An oil drop of radius 2 mm with a density 3 g cm ™2 is held stationary under a constant
electric field 3.55 % 10° V m ! in the Millikan’s oil drop experiment. What is the number of

excess electrons that the oil drop will possess ?
Consider g=9.81 m/s*
Options :
= 10
86435114311, 172 %10

e 10
86435114312, 173 x 10

r 12
86435114313, 172> 10

11
86435114314, T8-8x10

Question Number : 1 Question Id : 8643514771 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a3 faferer-a toa @y *3" 2 mm APMLT @32 3 g cm” 2 T g =l tes Fems
3.55 % 10° V. m ~ 1 <f¥e ¢oma #rams Sihn el 3w 93 Ton e Srelae Sraepeea L3 7

farase #4 g =9.81 m/s2
Options :

ry 10
86435114311, 173 %10

e 10
86435114312, 173 * 10

= 12
86435114313, 173 <10

11
86435114314, 28-8%10

Question Number : 2 Question Id : 8643514772 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A constant power delivering machine has towed a box, which was initially at rest, along a

horizontal straight line. The distance mowved h}’ the box in ime ‘" is pmpnrtinnal o :

Options :
86435114315, /2
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{1/2
86435114316.

(2/3
86435114317.

86435114318. v

Question Number : 2 Question Id : 8643514772 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
GFH 9% waoE 77 ey % Fa kg™ aEs i FAIera b e (¢ N ARHA TG @ e
HAATOF 204 ©1 24 -

Options :

86435114315, €72

(1/2
86435114316.

{2/3
86435114317.

86435114318. :

Question Number : 3 Question Id : 8643514773 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical long solenoids A, B, C and D are connected to each other as shown in the
figure. If the magnetic field at the center of A is 3 T, the field at the center of C would be :

(Assume that the magnetic field is confined with in the volume of respective solenoid).

B
A m
~—TT0000° 000

D

Options :
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86435114319, 1 T

86435114320. s

86435114321. B

2
86435114322. e

Question Number : 3 Question Id : 8643514773 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AL Sfen FEA A, B, C 8 D (& Bapia 7gs 341 28| AW A $9574 (Fad F0 (oI9S CFa 29e0
3 T2 O@ C 99 (FCF (TS (Fd 2AT€Cend W+ 204 :

(#a s @ pFeCwa (FqeNa e fowa )

B

Options :
86435114319, 1 1

86435114320. 5

86435114321. S

2
86435114322. e

Question Number : 4 Question Id : 8643514774 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The P-V diagram of a diatomic ideal gas system going under C}-'clic process as shown in

figure. The work done during an adiabatic process CD is (use y=1.4):

A D
200N/m2f[--——----- <
N
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Options :

400 |
86435114323

86435114324, V0]

86435114325, 200]

0]
86435114326.

Question Number : 4 Question Id : 8643514774 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
400 |
86435114323.
86435114324, 200

86435114325, 200]

0]
86435114326.

Question Number : 5 Question Id : 8643514775 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The position, velocity and acceleration of a particle moving with a constant acceleration can

be represented by :

Options :
86435114327.
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Question Number : 5 Question Id : 8643514775 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

TgACe S P I8 PO Y, Sherasl @ Fed (eiva 20q fiwamel
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Question Number : 6 Question Id : 8643514776 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

velocity

velocity

velocity

velocity

Correct Marks : 4 Wrong Marks : 1

acceleration

t

acceleration

acceleration

acceleration

af(t)

a(y

t

An AC source rated 220 V, 50 Hz is connected to a resistor. The time taken by the current to

change from its maximum to the rms value is :

Options :

86435114331.

25 ms
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86435114330, 2 ™S

86435114333, 0-22 mS

86435114334, 22 S

Question Number : 6 Question Id : 8643514776 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
220V, 50 Hz @@ «&f 2f$afé (AC) Tera el I% a1 23| 2% AT T (0F O 35 M4 T
(rms) SCe C"'HT‘E?CE & TR F=E g oG I

Options :

86435114331, = ™S

86435114330, 2 ™S

86435114333, 0-22 mS

86435114334, 22 S

Question Number : 7 Question Id : 8643514777 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In Young's double slit arrangement, slits are separated by a gap of 0.5 mm, and the screen is

placed at a distance of 0.5 m from them. The distance between the first and the third bright

fringe formed when the slits are illuminated by a monochromatic light of 5890 A is :
Options :

7 12
86435114335, 1178 X107 “m

86435114336, 2890 x10" " m

.- 9
86435114337, 1178 X107 " m

1178 x 10 ®m
86435114338.
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Question Number : 7 Question Id : 8643514777 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@3B 372 -« fafem «@rwE &% fArew 0.5 mm «92 &7 TS *WE @F 0.5 m| 3 5800 A oo

o G A TATE T T @ AN S PO TogA AhA 0 T
Options :

=72 5 12
86435114335, 1178107 “m

86435114336, 2890 x10" " m

s 3 L#
86435114337, 1178 %107 " m

1178 x10 % m
86435114338.

Question Number : 8 Question Id : 8643514778 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is travelling 4 times as fast as an electron. Assuming the ratio of de-Broglie
wavelength of a particle to that of electron is 2 : 1, the mass of the particle is :
Options :

86435114339 8 times the mass of e

— times the mass of e
86435114340, 16

86435114341, 16 imes the mass of e

3 times the mass of e
86435114342.

Question Number : 8 Question Id : 8643514778 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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G T FIR STera9 TEFHCTA ASATeA A 4 @) AW 93 FA W-FNAT SARCACEE AL
STAFGL W~ S TS 2 ;1 TW (A 9% FAE T I(A ¢
Options :

86435114339, ¢ 99 SAT 8§ 39

1
e @ oldad —— @Y

86435114340. 16
86435114341, € T =T 16 34
1
o= g wldd — EY9
86435114342. 8

Question Number : 9 Question Id : 8643514779 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

8

Iengﬂ‘u of pendulum is 10 cm known toa 1 mm accuracy. The time for 200 oscillations of the

The time period of a simple pendulum is given by T = 2.7,—\]1. The measured value of the

pexuiulum is found to be 100 second using a clock of 1 s resolution. The percentage accuracy

in the determination of ’g’ using this pendulum is “2". The value of ‘x" to the nearest integer

1s,
Options :
2%
86435114343,
3%
86435114344,
4%
86435114345.
=
86435114346. s

Question Number : 9 Question Id : 8643514779 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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OFH A (A 2RI T — Q.TF. e A 10 om o Fenefe 1 fifi «@e 200 9@ @
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2 WA ) GF AW (SPTE 7o FA2Y)

Options :
2%
86435114343.
3%
86435114344,
i
86435114345.
B
86435114346.

Question Number : 10 Question Id : 8643514780 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Imagine that the electron in a hydrogen atom is replaced by a muon (). The mass of muon
particle is 207 times that of an electron and charge is equal to the charge of an electron. The
ionization potential of this hydrogen atom will be :

Options :

86435114347, 100 €V

86435114348, 27-2 eV

86435114349, 2012 eV

86435114350, D122 eV

Question Number : 10 Question Id : 8643514780 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A TF QT FIGLE AR ARG woed () e afegi+e a1 2511 T =7 Traepem
TEA 207 G4 32 N STAFHETA S Tl | G2 T FIGCHCE S (ordd I =4 ¢
Options :
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4 T
86435114347, 100 €V

86435114348, 27-2 eV

o
86435114349, 2012 eV

> 7 '
86435114350, 2019-2 €V

Question Number : 11 Question Id : 8643514781 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A radioactive sample disintegrates via two independent decay processes having half lives

™ 10 _ _ S g
1, and "1, respectively. The effective half-life, Tlé K O T
Options :
T TP
Ty, = —2 42
86435114351. /0 ¥
T1_.E = TE 1} | Tf}
86435114352. 72 o
Ti” | Tiz_}
Ty, = /2 /2
= 70 _1@
86435114353. 2 /2
86435114354, vone of the above

Question Number : 11 Question Id : 8643514781 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i i i 3 i (0 i
93 (TEF T i A afEa maww vy Al A e AEier Wy Tl,é gae ol
: ) i |
e wey Ty, 2wt = b o wefrm e =2

Options :
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86435114351, 2

1 1/

86435114352, 72 ‘2
R

T e 2 .-'-'.2
A D _ 12

z 1,/ 1,

%4

86435114353.

86435114354, STATEA (52 7

Question Number : 12 Question Id : 8643514782 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A loop of flexible wire of irregular shape carrying current is placed in an external magnetic
field. Identify the effect of the field on the wire.

Options :
864351 14355. shape of the loop remains unchanged

26435114356 Iof}p assumes circular shape with its plane normal to the field

86435114357, loop assumes circular shape with its plane parallel to the field

86435114358 wire gets stretched to become straight

Question Number : 12 Question Id : 8643514782 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

42 AF GFD TW T S AATE TS TECF o7 7 (2 I G2 T GF A FFF ow@
AR T | @ CHIES CHCAa Aeid €% G [ Afeada =a 7

Options :

86435114355, T TR @IS ARG 20
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86435114356, T @2l 3 T TS 2 TN A (BFF (WA A FFSII ARKA

86435114357 A <15 7T U AfETS 203 T A (FFF (LA AL FAGA AT

86435114358, TR0 T (UTF GTE B #(fTS 203

Question Number : 13 Question Id : 8643514783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the experiment of Ohm’s law, a potential difference of 5.0 V is applied across the end of a
conductor of length 10.0 cm and diameter of 5.00 mm. The measured current in the conductor
is 200 A. The maximum permissible percentage error in the resistivity of the conductor is :

Options :

86435114359, -9

86435114360, /-2

86435114361. 8.4

86435114362. 3.0

Question Number : 13 Question Id : 8643514783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@3B eZa @ AFE «Fh 5.0 V 7T arew @3 10.0 G 77 ¢ 5.00 f&fy 7 T8 onam

AR M@ 2| (@ @S ANEA I 9| T 2.00 Al 83 Oad @aE el roea @Fha T
|

Options :

86435114359, 29

86435114360. 7.5

86435114361, 54

86435114362. 3.0
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Question Number : 14 Question Id : 8643514784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time period of a satellite in a circular orbit of radius R is T. The period of another satellite
in a circular orbit of radius 9R is :
Options :

86435114363, ° ¢

86435114364.

86435114365, 2/ T

12T
86435114366.

Question Number : 14 Question Id : 8643514784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R A @b FOF ANEETTT GFh TN EEE T ©0d 9R AHAHE Sed  FH TAUET

HEFE 204
Options :
86435114363, ° ¢

9T
86435114364,

'}H
86435114365, 2/ T

12T
86435114366

Question Number : 15 Question Id : 8643514785 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a series LCR resonance circuit, if we change the resistance only, from a lower to higher

value :

16/90
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Options :

86435114367. The resonance frequency will increase

36435114368, The bandwidth of resonance circuit will increase

86435114369, 1he quality factor will increase

The quality factor and the resonance frequency will remain constant
86435114370.

Question Number : 15 Question Id : 8643514785 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@Fh Caffel LCR el I&<11a ®ywia (@14 I W4 (A0F (@ A s Faa
Options :
86435114367, TRINLE THCE WoCy

s6435114368, TR @foraa e TaeaA 3 2@

86435114369, CFHIED @IS AELA

26435114370, TG BANEF €32 SHFA T2 7 e

Question Number : 16 Question Id : 8643514786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Your friend is having eye sight problem. She is not able to see clearly a distant uniform
window mesh and it appears to her as non-uniform and distorted. The doctor diagnosed the
problem as :

Options :

26435114371, Myopia and hypermetropia

86435114372, Presbyopia with Astigmatism

86435114373, £ 'stigmatism

17/90



3/18/2021

86435114374, Myopia with Astigmatism

Question Number : 16 Question Id : 8643514786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CONE 99 CBILT J9A1 SR ﬁ@ﬂwm?waﬂﬂﬁ’ﬁﬂﬁﬁﬂﬂ*w
(RELAE SIS 'S o STTaF 9P (A0S AW | TSI TS S0 O (BT (aTh 24
Options :

86435114371, TCRIRI €32 Z12MTE CTem

TR S0 b e

86435114372.

86435114373, 0 ERRIREe

86435114374, .

Question Number : 17 Question Id : 8643514787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the average value of energy along one degree of freedom for an ideal gas in

thermal equilibrium at a temperature T ? (k; is Boltzmann constant)

Options :

kT
86435114375,

86435114376.

86435114377.

7.
86435114378. -

Question Number : 17 Question Id : 8643514787 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T 70 SPIar G5 S SR G366 Aeg Fe Soyrd 518 Meq T4 38 7 (k28 @EpEe

FI9)
Options :

kT
86435114375,

kgT

k| =

86435114376.

kgT

I3 | L

86435114377.

7.
86435114378.

Question Number : 18 Question Id : 8643514788 Question Type : MCQ Option Shuffling

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - IL

List - 1
(a) 10 km height over earth’s surface
(b) 70 km height over earth’s surface
(c) 180 km height over earth’s surface

27 weight over earth’s surface
d) 270 km heigl th’ i
Options :

86435114379, @ () (B)(itd), (c)-(i1), (d)-(3)

86435114380, (D (b)-(id), (O)(), (d)}-(iv)

86435114381, @), (b)=(1), (c)-(iv), (d)-(iii)

26435114382, @), (b)-(iv), (c)-(iii), (d)-(ii)

(1)

(i1)
(iii)
(iv)

List - 11
Thermosphere
Mesosphere
Stratosphere

Tro posp here

: Yes Is

Question Number : 18 Question Id : 8643514788 Question Type : MCQ Option Shuffling : Yes Is

19/90
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Sifera - 1 «@ AL Sifers! - 11 9o 4 :

wiferat - 1 wiferast - 11
(a) T7@A 10 km ®7Ca (i) ETTEEE
(b) T 70 km A (ii) AT
(c) A 180 km Tia (iii) IO
(d) @A 270 km A (iv) GeeneEa
Trva Tea afe (s wow e froa w4

Options :
s6435114379 @H(E), (D)(i), (e)}-(i), (d)-(i)

86435114380, (), (O(H), (1), (d)-(iv)

86435114381, @F(E), (b)-(i), (c)(iv), (d)-(iii)

26435114382, @1, (B)-(iv), (c)-(iii), (d)-(ii)

Question Number : 19 Question Id : 8643514789 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A plane electmmagnetic wave of frequency 100 I"u_'II-Iz is travelling_ in vacuum a_inng the

— A
x-direction. At a particular point in space and time, B = 2.0 x 10°% k T. (where, k is unit

vector along z-direction) Whatis E at this point ?

(speed of light c=3x 10% m/s)
Options :

06 j V/m
86435114383,

86435114384, 00 1 V/m

6.0 k V/m
86435114385.

20/90



3/18/2021

86435114386, 00 K V/m

Question Number : 19 Question Id : 8643514789 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
100 MHz T8 GFb TGS S FFF[ Oa% 2 NTH x-S I9/99 boe| &b [Fqre g

M B = 2.0x 1075 k T (@A k 251 297 T 3T (S39) 9% R4le ot %@ E @@ T
77

(%[0 W4T =Ce sifecast ¢ =3 x 10° m/s)

.

Options :

06 j V/m
86435114383,

86435114384, 00 1 V/m

6.0 k V/m
86435114385,

86435114386, 00 K V/m

Question Number : 20 Question Id : 8643514790 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A thin circular ring of mass M and radius r is rotating about its axis with an angular speed w.
Two particles having mass m each are now attached at diametrically opposite points. The

angular speed of the ring will become :

Options :
[\
oy ——
M+ m
86435114387.
M
n M+ 2Zm
86435114388, "

21/90
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M —2m
=
M+ 2m
86435114389.
M+ 2m
y ——
86435114390 M

Question Number : 20 Question Id : 8643514790 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

M =1 @2 ¢ AP A2 @F A e om fom wewa veE o GIf9e wiere gare! 4 m ©Ed

FF AW 93 IAEA G0 AT | A0 218 To(F FSh 20 @ T GFIF Fheq #Afaae Ternd

Physics Section B

Options :
[\
oy —
M+ m
86435114387.
M
& M+ Zm
86435114388, ™
M —2m
g M 4+ 2m
86435114389. -
M+ 2m
y ——
86435114390 M
Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

864351320
2

Online
Mandatory
10

5

20

Yes

1
864351320
Yes
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Question Number : 21 Question Id : 8643514791 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
An npn transistor operates as a common emitter amplifier with a power gain of 105 The
input circuit resistance is 100 {1 and the output load resistance is 10 k{). The common emitter

current gain ‘B’ will be _ . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643514791 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@Ff npn FAEHA @ T4 AyEa FoTee A0S FYS FA TW O THOR ATS(19W) ANSTA AW
1061 TSI Z176 CAY 100 ) AL STEHA6 (A 10 k2 | 82 T4 4@ WSTae 2anza 7rs(15+)
Baeaam (e e A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643514792 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

23/90
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A ball of mass 10 kg moving with a velocity .1{],,.@ m/s along the x-axis, hits another ball of

mass 20 kg which is at rest. After the collision, first ball comes to rest while the second ball
disintegrates into two equal pieces. One piece starts moving along y-axis with a speed of

10 m/s. The second piece starts moving at an angle of 30” with respect to the x-axis.
The velocity of the ball moving at 30° with x-axis is x m/s.
The configuration of pieces after collision is shown in the figure below.

The value of x to the nearest integer is

Y- axis ¢ Ppiece 1

v11=10m/s
\K} X - axis
w2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643514792 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10 kg, ST G35 T 1043 m/s SIS0 x-37F I 550 5CS G 57 SAEH 20 kg SR FA0F

LA SIS FCA | HALACSA #F 242 =, 7 20 T B @S 7= ook o 1-Gaa o v
WEF FCA| G HICA -5 T4 10 m/s A0S TACS AN G2 O GICA 1AW e 30°
I beiCS A AW 30° (A bl WeHF AN x my/s MSMIM HA x @@ AH |
(ST =l Fe)

Y-SF 1 Piecel
1 =10m/s

Response Type : Numeric

» X-SE

Uy

Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643514793 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The voltage across the 10 (! resistor in the given circuit is x volt.

50 O
— VWV Wy ?
—_— 20 0
y
170V ,

| | .

The value of “x" to the nearest integer is ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643514793 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WG T SEPICA 10 () CATYT 9T BEd A0 oe 9w Aremid T x (I |

50 ()
AN WA Y —e— N AN — .
100 20 £}
L AN —»
170V .
| | .
X EaWE (s e A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 24 Question Id : 8643514794 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A
A C
B
10 m 5
m
hoﬁmﬂt?l
5\1';&3“1‘3
k4

As shown in the figure, a particle of mass 10 kg is placed at a point A. When the particle is
slightly displaced to its right, it starts moving and reaches the point B. The speed of the
particle at B is x m/s.

(Take g=10 m/s?)

The value of ‘" to the nearest integeris .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643514794 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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10 m =
m
otz -“ﬂml

L 4

fo@pTea A s 10 kg S0aa @310 341 IS AT TSR | T SSAC S0 “Tee & 5o0s wF
I «@2 B (@ (Tgd| B wfe@s T4 T ©F B 97 x m/s 20 d

(qTENE ¢ =10 m/s?)

EERCE 1 S £ 12 B B 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643514795 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A particle performs simple harmonic motion with a period of 2 second. The time taken by
the particle to cover a displacement equal to half of its amplitude from the mean position is
1

]

a

The value of ‘a” to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643514795 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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GG FEFI = A (ACerd “RAFE 2 CTPS | FRE (A0S [EIaa Sl @Y Sfoas Fa0s
¥
ﬂmmﬂgaw*awﬂaw (s e R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643514796 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C=3pF 5 M1}
| | AMANAAN ——
11

q=30 pC

\

The circuit shown in the figure consists of a charged capacitor of capacity 3 uF and a charge
of 30 pC. At time t=0, when the key is closed, the value of current flowing through the
5 M) resistor is ‘x" pA.

The value of “x" to the nearest integer is __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643514796 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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foraa a6 wepIa @36 3 uF 4y A8 aacea Snaa o qme 30 wC 1 =0 W [ @
5 M() (AT4E AT AYS 1 20 049 92 (A0 Aq0A #Afae v’ pA | x-9q T S 2 AL
I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643514797 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A person is swimming with a speed of 10 m/s at an angle of 120° with the flow and reaches
to a point directly opposite on the other side of the river. The speed of the flow is “x" m/s.

The value of ‘2" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643514797 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

B3 &0 10 m/ s SIS AE@ FHre 7T GF W@ i TMLe @S ACH 120° @19 I ATOE
Fhea wwid 3% To@ AN Tere a1 +md @0ea sfem@s 'y m/s A @I |
(SITE <o ST

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643514798 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two separate wires A and B are stretched by 2 mm and 4 mm respectively, when they are
subjected to a force of 2 N. Assume that both the wires are made up of same material and
the radius of wire B is 4 times that of the radius of wire A. The length of the wires A and B

a
are in the ratio of a : b. Then E can be expressed as — wherexis _
X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643514798 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

GFZ THCA (oAl §b O A @32 B & 2 N T8 209 FACA OHA ove1 3 [ 2 il «@e 4 R
a e
37| B ONAT T A O FI4L 891 A S B OAT (R0 HATS a: bl ©A Er:as—ﬁsm
X

A A AT x &9 Fq1

(STE <ol FeLT)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643514799 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A parallel plate capacitor has plate area 100 m- and plate separation of 10 m. The space
between the plates is filled up to a thickness 5 m with a material of dielectric constant of 10.

The resultant capacitance of the system is “x" pF.
The value of €g —=8.85x10 12 F.m !
The value of ‘2" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514799 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

GG ARG TS YR AT CPaFA 100 m? ¢q2 ATR@d @9 10 m | G@4 5 m @04 93
e (AATAPET F2F 10) T €2 10 F1H TR GCAT #79 F91 27 | q|I0Ga Ty pF =,
S CE 1 S Y £ 12 e A1)

£,=8.85x10"2 Fm~1 g3 71

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643514800 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A bullet of mass 0.1 kg is fired on a wooden block to pierce through it, but it stops after
moving a distance of 50 cm into it. If the velocity of bullet before hitting the wood is
10 m/ s and it slows down with uniform deceleration, then the magnitude of effective retarding

force on the bullet is ‘x" N.

The value of “x” to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 30 Question Id : 8643514800 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.1 kg S8 GFM A6 GFH @B FHA AF 10 m/s STLATS 9@ F¥0a 50 G 77y ofaey Fieg
CATN TR | AW JCAGD ANAWA BCA OCA SR qe FHFA AW =Wy’ N @A ‘¥ &F 0
(s 2 e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351321
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351321
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643514801 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a binary compound, atoms of element A form a hcp structure and those of element M
occupy 2/3 of the tetrahedral voids of the hep structure. The formula of the binary compound
15 :

Options :

h‘{j"‘ﬁka
86435114401. =

M,A,
86435114402, 4
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86435114403, MA3

86435114404, MgA

Question Number : 31 Question Id : 8643514801 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a3 e @e A JEE A sE oG TEaE 904 (hep) (R «@8 M Glicaa #fawe23f
hep ST 2/3 151 5ZFAT *FFH S4a FCa| o (qrem AwFs =

Options :

86435114401, 23

86435114402, Va3

86435114403, MA3

86435114404, MgA

Question Number : 32 Question Id : 8643514802 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A certain orbital has no angular nodes and two radial nodes. The orbital is :

Options :

-2
wn

86435114405.
2p
86435114406.

86435114407.

3p
86435114408.

Question Number : 32 Question Id : 8643514802 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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@F e F=cFa @ (FeE e 13 @2 §h Al (e ARl FHIH 2
Options :
86435114405.

]
"

2p
86435114406.

86435114407.

3p
86435114408.

Question Number : 33 Question Id : 8643514803 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(Process) (Catalyst)
(a) Deacon’s process (i) ZSM-5
(b) Contact process (i) CuCl,
(c) Cracking of hydrocarbons (iii) Particles ‘N{i

(d) Hydrogenation of vegetable oils  (iv) V,05

Choose the most appropriate answer from the options given below :
Options :

06435114400, @~ (©)-ii), (i), (d)-(iv)

86435114410, @), (b)-(i), (c)-(1), (d)-(iii)
s6435114411, @), (b)-(3), (c)-(iv), (d)-(ii)

86435114412, @r@): (O)-(v), ()-0), (d)-(iHi)

Question Number : 33 Question Id : 8643514803 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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siferat - 1 @@ 5 siferat - 11 (&8

Sifera - 1 wiferat - 11
(*r5Fe) (TFT6F)
(a) T omafe i) ZSM-5
(b) TAe~epf oS (i) CuCl,
(c) WRHFHE Sg (i) “Ni’ o

(d) Tfew (o 2IgcE e (iv) V,Os
TE Awe TEwa® @F AHTerE ade TEAh @R s
Options :
86435114409, (a)(i), (b)-(iii), (c)-(ii), (d)-(iv)

86435114410, @), (B)-(id), ()-(1), (d)-(ii)
26435114411, @ (i), (b)-(1), (c)-(iv), (d)-(ii)

86435114412, @r (@) (0)-(iv), (©)-(), (d)-(iHi)

Question Number : 34 Question Id : 8643514804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The ionic radius of Na* ion is 1.02 A. The ionic radii (in A) of Mg?* and AI’*, respectively,
are :
Options :
86435114413, 0-85 and 0.99

86435114414, 072 and 0.54

86435114415, 0-68 and 0.72

86435114416, 102 and 0.99

Question Number : 34 Question Id : 8643514804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Na* «@ S&am e 1.02 A1 Mg2t @32 AP+ @ sam aamm (A ¢3) qamae ¢
Options :

86435114413, 0-85 «@2 0.99

ey o /
86435114414, V-72 @92 0.54

86435114415, 0-68 @92 0.72

86435114416, 1-09 €92 0.99

Question Number : 35 Question Id : 8643514805 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The chemical that is added to reduce the melting point of the reaction mixture during the
extraction of aluminium is :

Options :
86435114417, Bauxite

86435114418, Kaolite

86435114419, Calamine

86435114420, Cryolite

Question Number : 35 Question Id : 8643514805 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HIESEE R SEE 20T S [AfEm fErd @ REEE ane g9 =

Options :

86435114417. y

86435114418, CFSTNZD

86435114419, TN
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SIATEAEH

86435114420.

Question Number : 36 Question Id : 8643514806 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two Statements : One is labelled as Assertion A and the other is labelled as

Reason K :

Assertion A :  During the boiling of water having temporary hardness, Mg(HCO,), is
converted to MgCO,.

Reason R : The solubility product of Mg(OH), is greater than that of MgCO,.

In the light of the above statements, choose the most appropriate answer from the options

given below :
Options :
86435114421 Poth A and R are true and R is the correct explanation of A

86435114422 Both A and R are true but R is NOT the correct expla_nation of A
86435114423, A is true but R is false

6435114424, A 1s false but R is true

Question Number : 36 Question Id : 8643514806 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s 4t fagfe rew zmte) @G od A fooTa Bfee @ wmfs #m@et R fZoma ofes -
TA A EA AT GeEd Foied Mg (HCO,), (F MgCO, #1sq I/ |
FEAR: Mg(OH), 99 Haral SF MgCO, &9 TSl STFRET BrF @

Toraa RAgosTIraa s, T ows AewafE s s s Tealh @ s
Options :

s6435114421, A TR RTSTHR HeF A2 A ¢F AT AN R

8643511442, A €T RTEIAZ AE for A wa AT IRM R T

o & =a
86435114423, > R
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86435114424. G =R

Question Number : 37 Question Id : 8643514807 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List- 1 List - 11
(a) Ca(OCl), (i) Antacid
" "
(b) CasS0, - 3 H,O (i) Cement
(c) CaO (iii) Bleach
(d) CaCO, (iv) Plaster of Paris

Choose the most appropriate answer from the options given below :
Options :
86435114425. {a]-{i], {b]-{i\?], {C]'{ﬁi]r {d]'{ﬁj

26435114426, @)-(ii1), (b)-(ii), (c)-(1), (d)-(iv)
86435114427, (@)(iii), (b)-(ii), (c)-(iv), (d)-(i)

86435114428. (a)-(iii), (b)~(iv), (c)-(i1), (d)~(1)

Question Number : 37 Question Id : 8643514807 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Siferat - 1 @@ 0F Siferat - 11 (TS

Siferat - 1 Siferst - 11
(a) Ca(OCl), (i) T
(b) CaSO, - %I—IED (i) PTrs
(c) CaO (i) T@gs
(d) CaCO, (iv) APHE ST “MEA
TS AwE AATwE (AT AldS Tea Tl 944

Options :
26435114425, @)1, (b)-(iv), (c)-(iii), (d)-(ii)

26435114426, @)-(ii1), (b)-(ii), (c)-(i), (d)-(iv)
86435114427, @k (iii), (b)-(ii), (c)-(iv), (d)-(i)

86435114428. (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)

Question Number : 38 Question Id : 8643514808 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of ionisable hydrogens present in the product obtained from a reaction of
phosphorus trichloride and phosphonic acid is :
Options :

86435114429, 1

86435114430, 2

86435114431. 0

86435114432,

Question Number : 38 Question Id : 8643514808 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FAFAT] FEAFELT @2 FAF T SMOTea & ave wmiel S 77 F20gTet-TE 7oA ;
Options :

86435114429, 1

86435114430, 2

86435114431. 0

86435114432,

Question Number : 39 Question Id : 8643514809 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) Chlorophyll (i) Ruthenium
(b) Vitamin - B,, (ii) Platinum
(c)  Anticancer drug (iii) Cobalt
(d) Grubbs catalyst (iv) Magnesium

Choose the most appropriate answer from the options given below :
Options :
86435114433, (@) (i), (b)-(ii), (c)-(iv), (d)-(i)

26435114434, @)F(W), (b)-(iii), (c)-(ii), (d)-()
26435114435, @)-(1), (b)-(ii), (c)-(iii), (d)-(i)

86435114436. (a)-(v), (b)-(iii), (c)-(1), (d)-(ii)

Question Number : 39 Question Id : 8643514809 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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wifera - 1 € 7% wiferat - 11 cIane -

SifeTat - 1 wiferet - 11
(a) @A ()  werafeE
(b) B -B,, (ii) -z
(c) SmFEETE @5y (iii) CFATH
(d) o T (iv) SR
S 28 TwGH (AT FAC P q1ef THA (AT NS :
Options :

se435114433. @(ii), (D)), (©)(iv), (d)-(i)
cea3s1 14434 @-09), (D)), (©)-(ii), (d)-(i)
so4351 14435, @), (D)), (©)-Gi), (d)-()

86435114436, (@)(1v), (b)-(iii), (c)-(1), (d)-(ii)

Question Number : 40 Question Id : 8643514810 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct structures of trans-[NiBr,(PPh,),] and meridonial-[Co(NH,),(NO,),], respectively,

are :
Options :
NO
Ph3P\ /Br O;N | < NH
and \CU/
Pth/ \Br OEN/[‘!\:H\NH3
86435114437. 3

Ph,yP \ / Br & NO,
\ |
/ \IJIJhS 0, N/ | NH,

NH;,
86435114438,
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H3N TDE NO,

Ph,P B
; \ / '
/ \\Pph H3N/ | \N(.)z

NH,
86435114439,

d
Ph, I::/ \Br o Dz"\l/ | \NDE

86435114440.

Question Number : 40 Question Id : 8643514810 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
trans-[NiBr,(PPh,),| €3¢ JaA@8-[Co(NH,),(NO,),] (Ts@ ioF 5o IUF

Options :
NO,
Phap\ /BI‘ DEN | NH3
o Y D/
[:-h P/ \Br DZN/ [‘!.H\NHU’
86435114437. 3
Pth\ /Er H3N NO, NO,
N7
/ \I'IIth DQN/ | \NH:E
86435114438. NH;j ;
H.N NO, NO
Ph3p\ /BI' 3 \Cl/ 2
0

A S T | o

86435114439.
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O,N

PhsP B
3 \ / d \Ll /
MNi 0
GER
ph3p/ \Br O,N / | \NDZ

NH,
86435114440, |

Question Number : 41 Question Id : 8643514811 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statements that are TRUE :

(A) methane leads to both global warming and photochemical smog
(B) methane is generated from paddy fields
(C) methane is a stronger global warming gas than CO,
(D) methane is a part of reducing smog,
Choose the most appropriate answer from the options given below :
Options :
86435114441, (A) and (B) only

86435114442, (&) (B), (C) only

26435114443, (B), (©), (D) only

86435114444, (&) (B), (D) only

Question Number : 41 Question Id : 8643514811 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ fagfoaf= o=

(A) frem fog Tame @ =

(B) G e o FTe Teote 2
(C) CO, «a o s < Taemer wrel @
(D) T femasd cdmmma 5 Tomm

T owE enaE s e 9d T @ s
Options :
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86435114441, 2304 (A) @32 (B)
864351 14442 2T (A), (B) @32 (C)
86435114443, 2404 (B), (C) @32 (D)

86435114444, 2304 (A), (B) 9= (D)

Question Number : 42 Question Id : 8643514812 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound with molecular formula C;H,O can show :
Options :

6435114445, Positional isomerism

86435114446, Functional group isomerism

86435114447, Metamerism

86435114448, Both positional isomerism and metamerism

Question Number : 42 Question Id : 8643514812 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
C,H,O SRS ALCFS 71a (5| Aol A0S (1A
Options :

86435114445, 2 AT

86435114446, T RS TR

86435114447, FOAETI

86435114448, 200 L TS S NI
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Question Number : 43 Question Id : 8643514813 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11 :
List - 1
(Chemicals)
(a) Alcoholic potassium hydroxide
(b) Pd/BaSO,
(c) BHC (Benzene hexachloride)
(d) Polyacetylene

Choose the most appropriate match :
Options :

86435114450, @ (iid), (b)-(1), (c)~(iv), (d)-(ii)
86435114451, (@)-(i), (b)-(iv), ()-(1), (d)-(iii)

26435114457, (@) (1), (b)-(iv), (c)-(i1), (d)-(i)

List - 1I

(Use/Preparation/ Constituent)
electrodes in batteries

obtained by addition reaction

used for p-elimination reaction
Lindlar’s Catalyst

Question Number : 43 Question Id : 8643514813 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Siferat - | @@ A0 Sifert - 11 (S -
Siferet - 1
(Fmrfs)
(a) SOTECPIZAT AL TIGHRE
(b) Pd/BaSO,
(c) BHC (@&m (=msazs)
(d) =ifereniGEm

Options :
86435114449, @) (1), (D)), (0)-(iv), (d)-(iii)

Sifert - 11

(T ol / sorian)
ENIDIEERCIEAC
QTS AR #1183 AY

p-SerTEe [AfEE w a[Te =
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86435114450, (@-(id), (B)-(1), (c)-(iv), (d)~(ii)
86435114451 @)-(1i), (b)-(iv), (c)-(i), (d)-(iii)

26435114457, (@)-(1ii), (b)-(iv), (c)-(i1), (d)-(1)

Question Number : 44 Question Id : 8643514814 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reaction of Grignard reagent, C,H:MgBr with C;HgO followed by hydrolysis gives compound
“A” which reacts instantly with Lucas reagent to give compound B, C;,H;;CL

The Compound B is :

Options :
Cl
CH,
86435114453.
CH;
1
86435114454.
Cl CH;,
CHy
86435114455.
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CH;

CH;

s

86435114456.

Question Number : 44 Question Id : 8643514814 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

faseré faemss, C,H.MgBr «a % C,H,0O @7 fafeam Sennfre “A” (@i ojom e wics

Jarda Sy e w02 (@9 B, C, Hy, Cl (o 33

B ¢aifs =4 :
Options :

CH,
86435114453.

N

3

86435114454.

Cl CH,

CHs

pe

86435114455.

47/90



3/18/2021

CH,4
Cl

CH;

86435114456.

Question Number : 45 Question Id : 8643514815 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C=N
COOH
H>O H>,0
i o ‘lﬂ H'
H H*, A
(Major Product)
Consider the above chemical reaction and identify product “A" :
Options :
CH,;NH,
86435114457.
: ~CONH,
86435114458.
;
: .C=N-0OH
86435114459.
: ~CH,NO,
86435114460.

Question Number : 45 Question Id : 8643514815 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

C=N
COOH
H,0 % H,0
i n
H+ H+, A
(=4 TesiaEar)
Teiraa aeafae fafEmts facasn g «ae Tesmas “A” ifes 9 -
Options :
CH,NH,

86435114457.

)
C=N-0H

: _CONH,
86435114458.

86435114459

: ~CH,NO,

Question Number : 46 Question Id : 8643514816 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

86435114460
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Hy

Alkaline KMnQO F -

Considering the above chemical reaction, identify the product “X" :

o
OCH;,4
Options :
CH,OH
x S
86435114461 OCH,
COOH
X -
OCH,
86435114462.
CHO
_}{ %
86435114463. K
CH,4
X -
OH
86435114464

Question Number : 46 Question Id : 8643514816 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

"H,

Alkaline K?»‘InDcL

- » "X

OCH,

Torag A At Teemmay “X WS 999

Options :
CH,OH
x i
86435114461. OCH;
COOH
Y -
OCH,
86435114462,
CHO
X %
86435114463, ek
CH;
X -
OH

86435114464.
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Question Number : 47 Question Id : 8643514817 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

H-C CH
3 \\N'/ 3
H,
NaNO,, HCl
}-_ .'_fxn’ =_ J'.I'Yh'
273K -278K (Major Product) (Major Product)

Considering the above reaction, X and Y respectively are :
Options :

and O/ N~ s
86435114465. ki

Cl Na N
and E j N
i) ' \CH,
86435114466. CH;
N, Cl™ CH,
d

an O/ CH,

86435114467.
Cl CHj
N o
SN I\,\
d
dan O/ CH3

86435114468.

Question Number : 47 Question Id : 8643514817 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

H.C CH
3 \\N"/ 3

H,

NaNO,, HCl

P e LAY

273K-278K (s Besraman) (=14 SermEar)

Toiraa Jfewm X @3 Y I9am

Options :
@ @ Q/ i =
CH,
86435114465,
] O/ N

86435114466. bl

N;Cl™ J,CHa

aae %

86435114467.

Cl CH,

S
GG AN
CH,
86435114468.

Question Number : 48 Question Id : 8643514818 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - 1 with List - 11 :

List - 1 List - 11
(Class of Drug) (Example)
(a) Antacid (i Novestrol
(b)  Artificial Sweetener (ii) Cimetidine
(c) Antifertility (i) Valium
(d) Tranquilizers (iv) Alitame

Choose the most appropriate match :

Options :
864351 14469, @), (b)-(iv), (c)-(iii), (d)-(i)

86435114470, @ (), (b)-Gv), (€)}-(1), (d)-(iii)
86435114471, @), (B)-(0), (©)-(i), (d)-(iii)

86435114472, @)-(1), (b)-(it), (c)-(1), (d)-(ii)

Question Number : 48 Question Id : 8643514818 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
wiferat - 1 «@ % eiferaet - 11 (=016 -

Siferat - 1 wiferast - 11

(sqe cufer faere) (Tmrzzer)
(a) (i) A
(b) FmEBTw (ii) PEEbBE
(c) o fraes (iii) SmfERT
(d) erirgw (iv) s
FHrerw qene fiE @z WS

Options :
864351 14469, @), (B)-(iv), (c)-(iii), (d)-(i)

86435114470, @), (b)-(v), (c)-(1), (d)-(iii)
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86435114471, @F(). (b)-(i), (c)-(ii). (d)-(ii)

86435114472. (@)(iv), (b)-(iii), (c)-(i), (d)-(ii)

Question Number : 49 Question Id : 8643514819 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A non-reducing sugar “A” hydrolyses to give two reducing mono saccharides. Sugar A is :

Options :
86435114473, Glucose

86435114474, Fructose
86435114475, Galactose

86435114476, Sucrose

Question Number : 49 Question Id : 8643514819 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O waEaE = “ A7 Y AraEe =y 1 feas sErmease teE Ia ) A = o=
Options :

86435114473, 419

CAES
86435114474. I

S NELEALE]
86435114475. '

86435114476. qra

Question Number : 50 Question Id : 8643514820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reagent, 1-naphthylamine and sulphanilic acid in acetic acid is used for the detection of :
Options :
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86435114477, NO2

86435114478. s

86435114479, NO

¢l

N
86435114480. -

Question Number : 50 Question Id : 8643514820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

faaas 1-=mefdaemtim @2 =smiihe smime e AeeaEe smhe I ATEFard F0E T959

o
Options :

86435114477, NO2

86435114478. g

86435114479, NO

2

86435114480.

Chemistry Section B
Section Id : 864351322
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351322
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643514821 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

C nmplr_-tr_- combustion of 3 g of ethane gives x X 102 molecules of water. The value of x is

. (Round off to the Nearest Integer).
[Use : N, =6.023 x 10%3; Atomic masses inu : C:12.0;0:16.0 ; H: 1.0]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643514821 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3 g ZrATTa TR WaA x x 1072 e S ANS; AW x &F W . (forebem =pefsexm)
[F1CF #1918 : N, =6.023 x 10%3; 1a117% &1 @3 u (8 : C:120;0:16.0 ; H : 1.0]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643514822 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX is a covalent diatomic molecule where A and X are second row elements of periodic
table. Based on Molecular orbital theory, the bond order of AX is 2.5. The total number of
electrons in AXis . (Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643514822 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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AX &5 TG FarmwgE =g @ A @32 X #RiE AR-ITe Hor AfEa (e | s4aas %8 g
HPIE AX 7 THA N 2,51 AX S TAFGEA TG AL (Frabem #yetaea)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643514823 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
CHg — GH, + H,
. k] mol 1. (Round off to the Nearest Integer).
[Given : Bond enthalpies in k] mol 1.C—-C:347. C=C:6l11;
C—-H:414, H-H : 436]

the reaction enﬂ‘ualp}-' _‘trH=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643514823 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C,H, — C,H, + H, Afewm ffem wmems A H=___ K mol~ 11 (Fbex #efeem)
[CRem TR : T @HAEAS  C - C: 347, C=C: 617;

(k] mol ~ 1 ) C-H:414, H-H : 436]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 54 Question Id : 8643514824 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
2 molal solution of a weak acid HA has a freezing point of 3.885°C. The degree of dissociation
of this acid is %1073 (Round off to the Nearest Integer).

[Given : Molal depression constant of water =1.85 K kg mol !

Freezing point of pure water =0°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643514824 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

GFH THE SIS HA @9 2 (&8 a0er Z9% 3.885°C wnnea s . %103
(ferelem #jefizm)
[CreSTT SR : Ted @EE - #F9¢ =1.85 K kg mol 1

oy wrea BamE =0°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643514825 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In order to prepare a buffer solution of pH 5.74, sodium acetate is added to acetic acid. If the
concentration of acetic acid in the buffer is 1.0 M, the concentration of sodium acetate in the
buffer is M. (Round off to the Nearest Integer).

[Given : pKa (acetic acid)=4.74]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643514825 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

pH 5.74 R @b arom a9 tofaa s wmiifbe srfres e s st e o0 == 3

I AL SOAGS STEd S5g 1.0 M 28, &4 @3 409 GG Smisied sog M
(frraoem =jfe4m)

[CReT TR : pKa (SHGS SmMPTe) =4.74]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643514826 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
2Fe®* (aq) + 21 ~(aq) — 2Fe?* (aq) + L,(s)

the magnitude of the standard molar free energy change,

_‘n.r{_;:” =~ _ k] (Round off to the Nearest Integer).
E* b2t /Feg) = — 0440 Vi Eopar p = — 0.036V
Bl f- = 0339V F = 96500 C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643514826 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2Fe3* (aq) + 21 (aq) — 2Fe?* (aq) +1,(s)

I:.Tf:;ziﬂ 'ﬂ. ﬁ?:r :E 1] W 1 ':..-:; ?qa\ﬂ;:l ATG:N = _ 1\] { Efﬁ_ﬂ ﬂ;crﬂ\n\.ﬂ‘lr)
E* g2t /peg) = — 0440V Epsr g = — 0036V
E’L, /51— = 0389V F = 96500 C

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 8643514827 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2 NO(g) +Cl,(g) = 2 NOCl(s)

This reaction was studied at

run [NOJ, [CL ],
1 0.10 0.10
2 0.10 0.20
3 0.20 0.20

[NO], and [CL,], are the initial concentrations and r is the initial reaction rate.

The overall order of the reaction is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

10°C and the followmg data was obtained
Ly
0.18
0.35
1.40

Question Number : 57 Question Id : 8643514827 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. (Round off to the Nearest Integer).
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2 NO(g) +Cly(g) = 2 NOCI(s)
Tafaa® — 10°C 7=enfre Ta #i@ @ “ifasedn= #nem o= -

faf@msem [NOJ,  [CL), r{]
1 0.10 0.10 0.18
2 0.10 0.20 0.35
3 0.20 0.20 1.40
[NOJ,, €32 [CL,], ATafEF % @Az r, e e sfoem)
ffmmaie s . (Febed e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643514828 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of unpaired electrons present in the complex K;[Cr(oxalate),] is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643514828 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

K,[Cr(oxalate),] ©f6a (05 STETE Srar@ied FECHH A2 o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 59 Question Id : 8643514829 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

grams of 3-Hydroxy propanal (MW =74) must be dehydrated to produce 7.8 g
of acrolein (MW =56) (C;H,O) if the percentage yield is 64. (Round off to the Nearest
Integer).

|Given : Atomic masses : C:12.0u, H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643514829 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fafem =re1ee Teowa 64% 2071 7.8 g wC@EE (MW =56) (C,H,0) (o1 Fars @ «famd 3-212g
THEEE (MW = 74) fere Fare 3@ oF #ffEawe g | (Freben #jefieam)

[Trea SICE : ATEEE ©: C: 120 u, H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643514830 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A reaction of (.1 mole of Benzylamine with bromomethane gave 23 g of Benzyl trimethyl

ammonium bromide. The number of moles of bromomethane consumed in this reaction are

nx10" 1, when n= . (Round off to the Nearest Integer).

[Given : Atomic masses : C: 120 u, H:1.0 u, N : 14.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
63/90
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100

Question Number : 60 Question Id : 8643514830 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@ e 0 0.1 (e @AgizereniicE [iEm 23 g @giza fefeiEs oiem 1w e @
“[TIel @A 97 AR O (AR nx 101, @MEAn=__ | (Fwoow #efxem)

[TweT IR : “Araefas =a : C : 120u, H: 1.0 u, N : 14.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351323
5

Online
Mandatory
20

20

80

Yes

1
864351323
Yes

Question Number : 61 Question Id : 8643514831 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the functions are defined as f(x)= Jx and 2(x) = +1 — x, then what is the common

domain of the following functions

(f + g)(x) = f(x) * ga), (f/g)x) = L2
g(x)

Options :
86435114491, 0 = x <1

f+g. f—8 ffg. gff g—f where
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86435114492, 0 <x <1

86435114493, 0 =¥ =1

86435114494, 0 <x =1

Question Number : 61 Question Id : 8643514831 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T f(x) = VT, gx) = VT x, 9 (f + g)x) =f(x) + gx) © (f/g)x) = % ST g,
-8 /g g/f, g fACTFEREAT AARD FWF JALE 26

Options :

86435114491, 0 =x <1

86435114492, 0 <x <1

86435114493.

86435114494, 0 <x =1

Question Number : 62 Question Id : 8643514832 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the equation a|z 2 t@z+az+d=0 represents a circle where a, d are real constants,

then which of the following condition is correct ?

Options :

e
86435114495, |®/“-ad = DandaeR
c6a35114406. |7 ad >0and a e R—{0}

]

86435114497, |@” — ad=0

g — . P
86435114498, @ =0, a de R
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Question Number : 62 Question Id : 8643514832 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
af alz]2 + @z + az +d =0 93fG JT W @ANF a, d € R S 69 @H [Fa70 Ao

Options :

al2—ad = 0 932 ae R
86435114495.

a/2—ad >0 932a e R— {0}
86435114496.

2 : -
86435114497, (@~ — ad=0

; — 5 |.
86435114498, @ =0, a de R

Question Number : 63 Question Id : 8643514833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 2 0 2 1 B
Let A+2B=| 6 -3 3|and 2A-B=|2 -1 6|. If Tr(A) denotes the sum of all
5 S5 1 0 1 2

diagonal elements of the matrix A, then Tr(A) — Tr(B) has value equal to :
Options :
86435114499, 1

I3

86435114500.
86435114501, 2

86435114502, 0

Question Number : 63 Question Id : 8643514833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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i Z 8 2 -1 5
99 A+2B=| 6 -3 3| 93z 2A-B=(2 -1 6 a1 Tr(A) A @F 98 Ff+mafeag
5 3 1 B 12

(aIsRFe 5 ©IECE Tr(A) — Tr(B) @d WA 204
Options :
86435114499, 1

86435114500, 2
86435114501, 2

86435114502, 0

Question Number : 64 Question Id : 8643514834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let o, B, v be the real roots of the equation, x* + ax>+bx+c=0, (a, b,ce Rand a, bz 0). If

the system of equations (in u, v, w) given by au+pv+yw=0; put+yv+aw=0;
'a?-'

v + av + pw =0 has non-trivial solution, then the value of — is:

Options :

0

86435114503.

86435114504, 1

86435114505. 3

86435114506, O

Question Number : 64 Question Id : 8643514834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
49 x> +ax2 +bx+c=0, (a, b, c € R €32 a, b = 0), FNFI9 BT IWT TS BfeT 26T o, p QI2 v | T
NTeg AMFITSFTT au 4 pr+yw=0; pu+vyr+aw=0;, yu+oav+pw=0, TIYFT u, v, w &4

2
e, QFfB TP STHT AUE SEE %tﬂﬁﬂ'ﬂﬁ

Options :
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86435114503. 0

86435114504, 1

86435114505,

86435114506, O

Question Number : 65 Question Id : 8643514835 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of all the 4-digit distinct numbers that can be formed with the digits 1, 2, 2 and 3
is :

Options :

86435114507, 22264

86435114508, 26664

86435114509, 122234

86435114510, 122664

Question Number : 65 Question Id : 8643514835 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1, 2, 2, 3 Jeunafa qrat sifFs 4 31 fioa fog Aeunafeam aeeres ga
Options :
86435114507.

86435114508, 26664

86435114509, 122234

86435114510, 122664

Question Number : 66 Question Id : 8643514836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Let (1+x+ 22?0 =a,+ax+ax2+....+a,yx10. Then, a;+a;+ac +.... bay- is equal to :
Options :
~19220 4 o
86435114511, 2 (> T 21)
jH]{jZ{] | ':}l]
86435114512, = *© =

21‘3{22{] 21]
86435114513.

23]{22{] 21]
86435114514.

Question Number : 66 Question Id : 8643514836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tfer (1+x 4 21'3]3“:;1{] ERE azxz o a4{]x4“ T SR ay tagtagt...+ay, AT T FJ
Options :
1920 4 n
86435114511, = (& +21)
X} 20 | »
86435114512, 2 (27 +21)

21‘3{22{] 21]
86435114513.

23]{22{] 21]
86435114514.

Question Number : 67 Question Id : 8643514837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_ 1

The value of 3 + 1 is equal to :
4 4 i
34 g
4 4
3+ ... oc

Options :

: x
86435114515, 1= 1 V3
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86435114516. 2
86435114517. ~

s6435114518. 4+ 3

Question Number : 67 Question Id : 8643514837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 4 7 aF 01
4

Options :

86435114515.
L

86435114516.

86435114517. -

s6435114518. 4+ 3

Question Number : 68 Question Id : 8643514838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 1 1 1 _
e F— et F - —— isequalto:
2 -1 52-1 721 (201)% — 1
Options :
25
86435114519, 101
101
86435114520, *U8
99
400

86435114521.
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10
86435114522, 404

Question Number : 68 Question Id : 8643514838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 1 1 1
I | S F——— TN ;

2 -1 52-1 7

Options :

86435114519, 101
101
86435114520, 408

99

86435114521, 200

86435114522, 404

Question Number : 69 Question Id : 8643514839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If «, p are natural numbers such that 100%—199 =(100)(100) + (99)(101) + (98)(102) 4
..... t(1)(199), then the slope of the line passing through (o, 3) and origin is :
Options :

86435114523, 210
86435114524, 230
86435114525, 940

86435114526, 290

Question Number : 69 Question Id : 8643514839 Question Type : MCQ Option Shuffling : Yes Is

71/90
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
qM o, B AR FE0 FTSIRF FA2UN 57 TCE FCF 100 — 1994 = (100)(100) + (99)(101) + (98)(102) +
..... H(1)(199) 5, SEE Jeia™ 8 (o, B) Rpsiit Sqercadd dqerst 5@
Options :

86435114523, 210

86435114524, 230
86435114525, 940

86435114526, 290

Question Number : 70 Question Id : 8643514840 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1
| — :lx] =1
If f(x)=1X is differentiable at every point of the domain, then the values of

i
lax” +b; |x]=<1

a and b are respectively :

Options :

11
86435114527, 2 2

I
b3 | W2

86435114528, 2

k3|
[ ]

86435114529.

K| =t
k| L3

86435114530.

Question Number : 70 Question Id : 8643514840 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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e ;x| =1
g f(x) = {1 HPFF0 TEF T ALt AfST RMres Sssaarsn 57

taxz Fbh: x| <1

SEA a9 byad I T4

Options :
a X
86435114527, = 2
3
86435114528, 2 2
5 3
86435114529, 2 2
3 3
86435114530, 2 2

Question Number : 71 Question Id : 8643514841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cosec lx

The real valued function f(x) = ﬁ where [x] denotes the greatest integer less than or
=

equal to x, is defined for all x belonging to :

Options :

26435114531 all reals except integers

2643511453, all reals except the interval [ 1, 1]

36435114533, all non-integers except the interval [ 1, 1]

86435114534, all integers except 0, —1, 1

Question Number : 71 Question Id : 8643514841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

73/90



3/18/2021

cosec” lx

49 [x] J2EW TAY B(AFF | OTHA f(x) = W= FTHFSO x QF (FF (@ WA S
\,II X

AewmifEe 7
Options :

86435114531. 74l AL YT ACHE IWI WILAT ey

86435114532, L~ 1 1] OHEIET T CICFIT IFT T S

86435114533, [~ 1, 1] ST IR SRMES 508 Sff ALAICSR

86435114534, 0, —1, 1 T AHE 94 ALAICER

Question Number : 72 Question Id : 8643514842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. =1 -1
. g - tr. " .
If i_lmn = a 3 cacllil ) equal to L, then the value of (6L +1) is :

3x
Options :

1
86435114535, ©

86435114536, ©

86435114537, 2
1
86435114538.

Question Number : 72 Question Id : 8643514842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
limi sin"lx — tan” 'x
—0 }xiﬁ

—L =, (6L +1) 9 T 5

Options :
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o | =

86435114535.

86435114536, ©

-2

86435114537.

M| =

86435114538.

Question Number : 73 Question Id : 8643514843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1)cosy(2x —1)? +5

\."lez

2 .
The integral _[( - dx is equal to :

dx + 6

(where c is a constant of integration)

Options :

i
;ain\/(h' I 'l]‘?‘ s o
86435114539. <

e
;sﬁ‘w'[{ﬁx '1]2 o
86435114540. =

1 i
—C084/(2x 'l]2 F5 + ¢
86435114541, 2

2

1
—cc}sxf{Ex F1" +5 +¢

86435114542, 2

Question Number : 73 Question Id : 8643514843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dx HAH

J.(Zx 'l:ICDS\/{ZI 'l]lE +5
Vax? — 4x + 6
(@I ¢ 55 ANFEAS FIF )

Options :
75/90
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1
;sin\/(h’ I 1]2 Fh +c
86435114539. <

1
—51'_11\[{21' '1]2 ol
86435114540.

1 i
—cos4/(2x 'l]2 o o
86435114541, 2

k|
—cnsqr(ix I 1]E 5 + ¢
86435114542, 2

Question Number : 74 Question Id : 8643514844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The differential equation satisfied by the system of parabolas > =4a(x + a) is :

Options :
2
L"(d_ﬂ ' h{d—yw y=0
86435114543, X/ L dx )
F{d—ﬂ ! zlfd—ﬂ y=0
86435114544, X \dx )
dy 2 du
L’[—ﬂ l‘t[—y| Fy =0
86435114545, 4% dx )
dy d
_l." 7{_3" =0
y[dx] "‘k_dx] Yy

86435114546.

Question Number : 74 Question Id : 8643514844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y2=4a(x + a) WeTeGTRA TFA FAF0 2 :

o2

86435114543.

Options :

() -r-
\ dx )

E.'|<=._
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d
86435114544.

d
86435114545.

/|
86435114546.

Question Number : 75 Question Id : 8643514845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement about two circles whose equations are given below :
x2 yz 10x— 10y +41=0

x2 4 yz 22x - 10y +137=0

Options :

86435114547, Circles have two meeling points

6435114548, circles have no meeting point

86435114549, circles have only one meeting point

86435114550. circles have same cenlre

Question Number : 75 Question Id : 8643514845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x2+y?2=10x - 10y +41=0
938 x2 4 y?- 22x - 10y +137=0
JEaEd S fafafs @E gt s ¢
Options :

86435114547 319910 G20 fqts o I

JEqT (e FE Al

86435114548.
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86435114540 15410 B @G Fgre =rf F

86435114550, 1SAVA (FUFFY Q37

Question Number : 76 Question Id : 8643514846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the four circles M, N, O and P, following four equations are given :

Circle M : x%+4 yzzl

Circle N : x2+ yz 2x=0

Circle O : x2+y2—2x—2y+1=0

Circle P : x2+ yz 2y=0

If the centre of circle M is joined with centre of the circle N, further centre of circle N is joined

with centre of the circle O, centre of circle O is joined with the centre of circle P and lastly,
centre of circle P is joined with centre of circle M, then these lines form the sides of a :
Options :

86435114551, Rectangle

86435114552, Rhombus

86435114553, duare

26435114554, | arallelogram

Question Number : 76 Question Id : 8643514846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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79 M, N, O @ P Jebrba silisad fagfafis

M:x2+y?=1

N:22+y*—2x=0

O:x2+y-2x-2y+1=0

P:x2+y—2y=0

M @3 (FHEY 2300 N @F (@FE N G99 (@FEEY 230 0 99 @E], O @3 @u ] 2306 P ad

@Fu{TY, 32 P O (FHTY 2200 M A7 @Fu] 8 @Il 71 I F1 5 | AFTayore
S159 FE AFT

Options :

86435114551, NROCwd

EER]
86435114552.

86435114553, LA

86435114554, BT

Question Number : 77 Question Id : 8643514847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of integral values of m so that the abscissa of point of intersection of lines
3x+4y=9 and y=mx +1 is also an integer, is :

Options :
86435114555.

86435114556.

86435114557, 2

86435114558, 2

Question Number : 77 Question Id : 8643514847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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49 3x+4y=9 @92 y=mx +1 FITFIMTT (YT & Q0 AW | T m @7 TH8 9FT
SfALYT &M, ©EE m OF FEHY W ALY &
Options :

86435114555, U

(=

86435114556.

86435114557.

(s}

86435114558.

Question Number : 78 Question Id : 8643514848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The equation of one of the straight lines which passes through the point (1, 3) and makes an

angle tan" ! [_\E | with the straight line, ¥ + 1= 3J2 x is:

Options :
86435114559, 42 x +5y — (15+442) =0

s6a3si1asco. N2 x — 5y — (5+4J2) =0

86435114561. 5v2x + 4y — (15 + 442) =0

86435114562, N2 x +5y — 442 =0

Question Number : 78 Question Id : 8643514848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tfi (1, 3) frgerit w6 sTaercaat Y+ 1=3V2 x TR A tan~1(V2) ittt I,
SR AFEAITT 90 Ay AhFa =5

Options :

26435114550 N2 x +5y — (15+ 4v2) =0

42 x

86435114560. 5y — (5+442) =0
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86435114561, V2 X T4y — (15+442) =0

o .
86435114562, N2 X + 5y — 442 =0

Question Number : 79 Question Id : 8643514849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solutions of the equation

14 sinzx sinzx sinzx
cos2x 1 + cosZx cosZ x| = 0,0<x <), are :
4 sin2x 4 sin2x 1 + 4 sin2x
Options :
T o%
86435114563, 6 6

86435114564, 12 12

7w 1lar
86435114565, 12 12

ar ar
86435114566, 12 ©

Question Number : 79 Question Id : 8643514849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e = i
1+ sin“x SN Xx sin—Xx

cos?xy 1 + cosix cos® x| =0, (0 <x <) FAMFFeHT Porafe == -
4 sin2x 4sin2x 1+ 4sin2x

Options :
5
6

r

o g

86435114563.
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By

-
3| =]
[
-2

86435114564.

I 1%
86435114565, 12 12

o3

o
86435114566, 12

Question Number : 80 Question Id : 8643514850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

iy
A vector a has components 3p and 1 with respect to a rectangular cartesian system. This

system is rotated through a certain angle about the origin in the counter clockwise sense. If,
+ ﬁ i +
with respect to new system, a has components p+1 and /10, then a value of p is

equal to:
Options :
86435114567, 1

86435114568, 1

4
86435114569, 3

W |

86435114570.

Question Number : 80 Question Id : 8643514850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

WG SIS FOAY FAE 0l (Rectangular cartesian coordinate system) @& (&3d
a aF SofeefEt % 3p @72 11 Wk WAE FHf5A SR 9fvy F10R Redits e fifie

CHITET AT a ceFafla Soetaf How p+1 €3 10 oEE p @ @3 TH 3@

Options :
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86435114567, 1

86435114568, 1

4

86435114569. 5
5
86435114570.
Mathematics Section B

Section Id : 864351324
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351324
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643514851 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let z,, z, be the roots of the equation z2 + az+12=0 and z,, z, form an equilateral triangle
with origin. Then, the value of |a|is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643514851 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4z, z, T 22 +az+12=0 SFladie | afi g&1f g, 2, 6 2, @3 e fagrem Mfey
3 OEE |a| I EE
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 8643514852 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f(x) and g(x) be two functions satisfying f(x?) +g(4 —x)=4x" and g(4 — x) + g(x) =0, then
& ﬂ

the value of I._f{x“)dx -~
-4

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643514852 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

49 f(x) 992 g(x) HET A0 SICPHS QAT f(x2) + g4 — x) =423 Q32 g(4 — x) + g(x)=0 "7
T j

5eT | ORE [ f(x%)dx S
—4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643514853 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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3 =B .
5 il B0 o
If f(x)= _[ : L 5 dx, (x = 0), f(0)=0and f(1)= %, then the value of K is

(22 +1+2x7)°

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643514853 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

8 -
qfi; flx) = _[ hx™ + Tx

T dx, (x = 0), f(0)=0 @R f(1) = % 52, ©FcT K 9F W4 5@

(22 +1+2x¢

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643514854 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A square ABCD has all its vertices on the curve x?y?=1. The mid points of its sides also lie on

the same curve. Then, the square of area of ABCD is ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643514854 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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439 ABCD 3sfrwaffa waaf0 Mafrgs x22 =1 IF@IHE T+9 3@fys | ofn asfosas amafEs
nfrqefie x%y? =1 TaFd OoT SafEs 2, O’ ABCD OF CFawterd 95 59

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643514855 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the plane ax + by +cz+d=0 bisect the line joining the points (4, —3, 1) and (2, 3, —5) at
g

the right angles. If a, b, c, d are integers, then the minimum value of {az b2+ 2 4 ::1-""-] is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643514855 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(4, —3,1) 8 (2,3, —5) Rl sge s e @A qsTT SN0z | 99 ax + by +cz+d=0
Gl onE @YU swend mMiEdias F@ 13 a, b, ¢, d TN 27 S (@2 + b2 + 2 + d2)
9 AT T T

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 86 Question Id : 8643514856 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The equation of the planes parallel to the plane x — 2y + 2z~ 3 =0 which are at unit distance
from the point (1, 2, 3)isax+by + cz+d =0. If (b —d)=K(c—a), then the positive value of K
18

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643514856 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x—2y+2z—3=0 ANo(eE ANEHS QFC Mo T aFfo 9 (1, 2, 3) 2200 UFF a0y SaHEs
BEF AMFIT 761 ax + by +cz +d=01 T (b—d)=K(c —a) 0 Si=Cal K 9T 49191F 71410 2309

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643514857 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mean age of 25 teachers in a school is 40 years. A teacher retires at the age of 60 years
and a new teacher is appointed in his place. If the mean age of the teachers in this school

now is 39 years, then the age (in years) of the newly appointed teacher is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643514857 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

87/90



3/18/2021

QG Frer 25 SiF PR 019 510 251 40 999 | 3R 00T OFGH s 60 959 0T S
o G2 TEF BA OFSH Jod FrFs mraE Ry F91 26 | If I67F 25 & FEREd o1 339
39 57 T, SR(A Tgd WYE FrEET IT9 =4 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643514858 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of times the digit 3 will be written when listing the integers from 1 to 1000 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643514858 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 320o 1000 SRTY 58 < feYTE Giferam 3 J<4viD I S |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643514859 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The missing value in the following figure is

.".. I ? \‘.'-. 5 I':
| { | |
| I | |
I'I II"‘ 24 E" |
3 \NE T

N, / e /
8 7
\“-u._ L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643514859 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

famsa gwite wfafds e =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643514860 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation |coty| = cotx + —— in the interval [0, 27] is
Sinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643514860 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
[0, 2] SEWIAEA SAES |cotx | = cotx + L AMEaoa Fovreayr g

sinx
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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